NMRV ﬁ} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES , FRRBNEREXSTRNES

WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
MRARNRRAESKEERNES

9.1 NMRVE 5| &S R~i%E Model expression way of NMRV series

NMRV

B AR Gear unit type :
FHEHE NMRV Ordinary machine model NMRV
L DA il WMAGE NRV Input-shaft style NRV
Input-shatft style NRV F1 75 — 40 —B3
ZHMER: (MP378mEAMARA) Structure: (See Description to structural form on P378)
HENE NMRV F1 75 MBQ 04—Y 15— 4P—180°— 1—40 —B3—L
Ordinary HREe. QP382-P38sMikNiEME Type: see model selection parameter form on P382-P385
machne mets! AR Combined variable speed machine:
(MP386-P387mM kR SHR) (see model selection parameter form on P386-P387)
HEM B ASTENNE S Model of combined variable speed machine:
Gear units type (MP386-P387 MR B8%) (see model selection parameter form on P386-P387)
B Structure BPERRS: Codes for Motor Types:
HHE B Y Ordinary Motor Y
YES Type Py YB Flameproof Motor YB
HizhEH YEJ Brake Motor YEJ
HETEV(RNB M) ZiEAH YD Multi-speed Motor YD
Combined variable speed machine TH R YVP Variable frequency Motor YVP
(omitted for single machine) THHIh R YVPEJ Transduction braking Motor YVPEJ
HATENNB S (B BLRE) HIh®, s NP382-P387TikR$#%% Motor power. pole: see model selection parameter
Model of combined variable speed machine form on P382-P387
(pamited for:singes macting) #3k: MP382-PIBTHHAS MR Ratio: see model selection parameter form on P382-P387
BHL2E Motor types ;
LR MPIBE-PINHERLARE :‘;‘Iounﬁr:g poeliti;n 368 i;a:atallf:;nctfqm figure on Page P388-P390
AR Jst s there is no indication, the product is
RaHLLh 3 MMotor power SR ' supplied according to position B3,
R Motor pole EoRRE, BEOME: Angle of wiring box. wire inlet position: If there is no indication,
% th le of wiring box is 0° , and the wire inlet is X.
S8 4 B Angle of wiring box ?&éﬂﬁﬁﬁnﬁﬁm HEOEE e angle of wiring is an re inlet position is
B O (BRI M XHRE)
Wire inlet position (default position X omitted)
fE3htE Ratio
LeERF Mounting position
FRAR
Handwheel position '
FEHAE: Handwheel position:
MY BEFRELXD L The handwheel is at the left side when viewing from the end of motor L
MEVBREEFRESRE R The handwheel is at the right side when viewing from the end of motor R
RBP4 FRMRE see Handwheel position example on Page P364
kR ERA B A4L55. If there is no indication, the product is supplied according to position R.

375 376

NMRV



NMRV é} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
oyl SRABN AR EXEERNEL KRR EXEEAEANEL

NMRV

9.2 NMRVE NRVZ #3855 iH Description to structural form of NMRV and NRV 9.3 NMRVE AT ENASEHE X%
Description to structural form of combination of NMRV and stepless speed variator

O TITih
[

F1

\%@

DL
2
':
N r!ﬁ,’f
= WPl =
7\ e

w,"-f.. 7
7

1©4
2

AN

F1 F2
(1) "] O

" s

| ey

8 |

I 1

| | %

¥ =1 b
TA YZ

2 s

NMRV



NMRV ﬁ WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
oyl SRR R EXEERNEE

WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
BRRRNERESESTRIES

NMRV

9.4 NMRV# 7| 233 B Installation form figure of NMRV series

9.5 NMRVE L T ENASLEEAE
Installation form figure of combination of NMRV and stepless speed variator

&) WSFL ,f&“){@ MWALFL e HHEL
7 Oll level plug = Qil drain plug

NMRV



NMRV ﬁ} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES , FRRBNEREXSTRNES

WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
MRARNRRAESKEERNES

NMRV

9.6 NMRV# 71128 £ 43 Model selection parameter form of NMRV series

BEThE W MHEE ol GHEY VIEE | EzhdichE HHEE SHEE S35t GREE ES RENIThER Wi HiAsE fEEhtk AR YIRS | SshiichE Gk s Stk GREN 3RS
Power Output Output Ratio Service Type Power Output Output Ratio Service Type Power OQutput Output Ratio Service Type Power OQutput Output Ratio Service Type
speed torque factor speed torque factor speed torque factor speed torque factor
(kW) r/min N-m i f, (kW) r/min N-m i f, (kW) r/min N-m i fs (kW) r/min N-m i
0.18kW 0.55kW 1.1kW 2.2kW .., = T
187 7. 7.5 1. 187 24 7.5 2.3 187 50 7.5 4.7 140 130 10 20
120 g_g 10 1_% 140 31 10 1.77 140 65 10 4.0 93 188 15 1.64
3 15 00 93 43 15 1.36 93 94 15 3.3 NMRV:#80
70 17 20 0.80 70 50 20 123 NMRV:50 70 126 20 29 56 308 25 1.09
56 21 25 1,00 56 71 25 1.00 56 154 25 22 47 351 30 1.23
47 24 20 0.80 47 81 30 1.00 47 176 30 25  NMRV380 35 433 40 0.80
35 101 40 0.80 35 217 40 1.60
187 7.8 7.5 3.3 28 246 50 1.20
140 13 10 27 187 25 7.5 4.1 23 310 60 1.09 gg :g; -.{[;5 gg
93 14 15 1.85 140 32 10 3.3 18 365 80 0.80 U.353 194 15 3‘0
70 19 20 2 2 = = 085 285 20 20
56 2 s LA NMEVEAD ‘80 NMRV363 - oA 4 0843 316 25 20 NMRV110
47 26 30 1.64 56 73 25 1.80 47 178 30 33 0.8 256 20 164
35 32 40 1.25 47 84 30 2.0 35 234 40 25 . .
28 a8 50 D'aa 35 104 40 1.40 28 281 50 22 NMRV3#110 0.78 468 40 1.23
23 43 60 D:BU 28 124 50 1.10 23 324 60 1:30 g;? g g ;‘%
23 140 60 0.80 18 402 80 1.09 * 3
14 473 100 0.90
g £ ﬁ ?:gs 35 108 40 2.0 187 101 75 61
28 132 50 1.60 1.5kW 140 133 10 5.10
23 43 60 1.64 o NMRV3%75
18 52 80 125 NMRVixS0 23 140 60 1.40 187 68 76 150 93 194 15 3.77
14 &0 100 0.90 18 180 80 1.00 140 a8 10 1.20 70 255 20 27
0.25kW A AELYRT 70 166 20 0.80 47 358 30 277
187 1 7.5 2.4 0.75kW 35 468 40 2.25
140 18 10 1.92 187 33 7.5 1.70 187 68 75 27 28 563 50 1.72
03 19 15 1.30 140 42 10 130 RS0 140 90 10 22 23 649 60 1.45
70 26 20 148  NMRV340 93 58 16 1.00 93 131 15 160  NMRV%TS 18 816 80 1.00
56 32 25 1.18 70 81 20 0.90 70 164 20 117 14 966 100  0.80
47 36 30 1.18 56 205 25 1.00
35 44 40 0.90 187 34 7.5 3.0 47 230 30 1.00 187 101 7.5 1159
140 4 10 24 140 128 10 9.55
187 11 75 5.1 9 63 L 1.00 187 68 75 36 93 189 15 625
140 14 10 3.9 70 83 20 1.80  NMRV3%63 140 89 10 2.9 70 250 20 5.00
93 19 15 3.0 56 100 25 1.32 93 128 15 24 56 305 25 3.75
70 27 20 27 a7 14 30 147 70 172 20 241 47 352 30 307 NMRV150
56 32 25 22 NMRVS0 % R 56 210 25 160 NMRV90 35 455 40 341
g ¥ 2 B 5w w & & 3 I8 2 m @ o2
28 54 5 133 28 180 50 117 NMRV7S 2 33 50 088 e N e
23 80 60 1.18 23 190 60 1.02 23 424 60 0.80 14 975 100 1.00
18 72 80 0.90
35 148 40 23 56 215 25 29
187 16 75 180 23 212 60 160 NMRv:x90 35 319 40 1.80 140 180 10 110 NMRV%7S5
140 27 10 1.30 18 249 80 1.17 28 384 50 180 NMRV3110 .
03 28 15 0.90 14 302 100 0.90 23 442 80 117 93 261 15 0.80
70 39 20 100, MMIRVEAG 18 548 80 080
56 47 25 0.80 1.1kW 187 135 75 1713
140 65 10 1.64 140 o1 10 749 93 257 15 1.20  NMRV3%90
187 16 7.5 3.4 a3 92 15 1.23 93 132 15 553 70 344 20 1.07
140 21 10 26 T0 122 20 1.09 NMRV #6863 70 174 20 397 56 420 25 0.80
93 29 15 23 56 146 25 0.09 56 216 25 3.98 47 479 30 0.80
70 4 20 182 bid i B 47 244 30 408 NMRV130
56 48 25 149 NMRV:#50 a5 319 40 3.30 187 138 7.5 3.5
35 68 40 119 m = 1 Al 23 442 80 213 93 264 15 22
28 80 50 0.90 gg ?ﬁm ;g fgﬂ 18 556 80 147 70 348 20 147  NMRV3110
60 ; : 56 431 25 147
23 89 0.80 56 150 % 136 NMRV375 14 659 100 117 s - 14
35 70 40 2.1 b 169 1.40 35 638 40 0.90
28 83 50 1.64 35 218 40 1.00 2.2kW 187 100 7.5 1.82 28 767 50 0.80
23 94 60 134  NMRV3%63 28 264 50 0.80 140 132 10 150
18 115 80 1.10 93 191 15 1.00 NMRVTS
14 129 100 0.90 70 240 20 0.80

381 382

NMRV



NMRV ﬁ} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES FRRBNEREXSTRNES

WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
SRAENERSEETRNEE

NMRV

lﬁﬂﬂlﬂlﬂ kg HHHIIE fﬁiﬂﬂ: SRR RS wma ¥R WHEE ftﬂﬂﬂ: ERRY NBS
Output Service Type Qutput  Output Service Type
speed torque factor speed torque factor
(kW) rfmin N-m i fs (kW) r/min N-m i fs
3kW 4kW
187 138 75 448 187 178 75 9.63
140 182 10 3.74 140 240 10 7.43
93 264 15 2.76 93 a3s 15 5.00
70 348 20 1.99 S 70 463 20 4.63
56 431 25 1.99 56 567 25 3.44
47 488 30 2,03 47 640 30 app NWEVEES
35 638 40 1.65 35 844 40 3.03
28 767 50 1.26 28 1024 50 2.25
23 884 60 1.07 23 179 60 1.88
1 1 80 1.
187 138 75 850 13 1?33 100 1 %
140 174 10 7.00 )
o3 258 15 4.58
70 341 20 3.67 5.5kW
187 253 75 1.91
% 48 ® 275 NMRVH150 140 334 10 150
47 480 30 225 1
a5 620 %0 250 93.3 484 5 120 NMRV3€110
28 764 50 183 70 638 20 0.80
23 885 80 133 56 790 25 0.80
18 130 80 1.00 187 253 75 2.45
187 134 75 1283 M 0 2
140 180 10 9.90 93 485 15 1.51 ]
93 251 15 678 70 638 20 108 NMRVII0
70 347 20 6.17 56 791 “5 1.09
58 425 25 4,58 47 894 30 1.11
47 480 30 477 NMRV185 35 1171 40 0.90
35 633 40 4.03
28 768 50 3.00 187 253 75 464
23 884 60 2.50 140 319 10 3.82
18 1120 80 1.83 93 473 15 2.50
1 100 4 :
. 15 9 o 0r 2 2 NMRvi150
4kW a7 880 30 123
187 182 75  1.00 NMRV¥75 35 1137 40 1.36
28 1400 50 1.00
187 180 75 130
140 236 10 1.10 187 245 75 7.00
3 342 15 pgo NMRVNR0 140 330 10 5.40
70 48 20 080 93 461 15 370
187 184 75 26 ;‘; % ﬁ §$
140 243 10 2.1 47 880 a0 260 NMRV:185
93 362 15 1685 NMRV110 35 1160 40 290
70 464 20 1.10 ;
28 1408 50 1.64
56 575 25 1.10 25 1621 80 1.38
47 647 30 0.90 '
18 2070 80 1.00
187 184 75 336
14 242 10 2.81
% a2 18 207 7.5kW 187 345 75 140 NMRVE110
70 464 20 1.49 140 455 10 1.10
56 575 25 149 NMRV%130
47 650 30 1.52 187 344 75 1.79
35 851 40 1.24 140 454 10 1.50
28 1023 50 0.94 93 661 15 1.1
23 1179 60 0.80 70 870 20 o7e NMRVI130
56 1078 25 0.80
187 184 75 638 47 1219 30 0.81
140 232 10 5.25
03 344 15 3.44 187 345 7.5 3.40
70 455 20 2.75 140 435 10 2.80
56 555 25 206 NMRV3%150 93 644 15 1.83
47 640 30 1.69 70 852 20 147
35 827 40 1.88 56 1040 25 gqg TR
28 1018 50 1.38 47 1200 a0 0.90
23 1180 60 1.00 35 1550 40 1.00

iﬂlﬂlﬁlﬂ BHEE MHEE f3ht ERRYN NES %ﬁl#ll;h! BEE MHAE fEi‘hH: ERRY NES
Output Output Ratio Service  Type Output  Output Service  Type
speed torque factor speed torque factor
(kW) r/min N-m i fa (kW) rfmin N-m i fy
7.5kW
187 334 75 5.13
140 450 10 3.96
a3 628 15 271
70 868 20 247
56 1064 25 183 NMRVI18S
47 1200 30 1.91
35 1582 40 1.61
28 1920 50 1.20
23 2210 60 1.00
11kW
187 505 75 1.22 NMRV3%130
140 666 10 1.02
187 506 75 2.32
140 638 10 191 NMRV150
a3 945 15 1.25
70 1250 20 1.00
187 490 75 3.50
140 660 10 2.70
a3 922 15 1.85
70 1272 20 168  NMRV3%185
56 1560 25 1.25
47 1760 30 1.30
35 2320 40 1.10
28 2816 50 0.82
15kW
187 690 75 1.70
140 870 10 140 NMRV3150
a3 1289 15 0.92
187 668 7.5 257
140 900 10 1.98
a3 1257 15 1.36 .
70 1735 20 123 NMRV185
56 2127 25 0.92
47 2400 30 0.95
35 3164 40 0.81
18.5kW
824 75 2.08
140 1110 10 1.61
93 1550 15 1.10
70 2140 20 100 NMRV185
56 2624 25 0.74
47 2960 30 0.77
22kW
187 980 75 1.75
140 1320 10 1.35
03 1843 15 o093 MRVI185
70 2545 20 0.84

NMRV



NMRV ﬁ} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES , FRRBNEREXSTRNES

WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE @
MRARNRRAESKEERNES

NMRV

9.7 NMRVE T4 TRV EHSER S H T
Model selection parameter form of combination of NMRV and stepless speed variator
BEYThE WHEE WHAE Sk nus I E MHEE SHEE Fk nas mEhHThE MHEE W3S F3h nae BEThE MUEE WMHEE $3H nas
Power Output Output  Ratio Type Power Output Qutput Ratio Type Power  Output Output Ratio Type Power Output  Output Ratio Type
speed torque speed torque speed torque speed torque
(kW) r/min N-m i (kW) r/min N-m i (kW) r/min N-m i (kW) r/min N-m i
0.18kW 0.55kW 1.5kW
128.7~257 9~18 7.5i0 24~4.8 120~248  40io 128.7~25.7 80~156 7.5i0
965~19.3 12~14  10io 19.3~39 153~297 50io 96.5~19.3 107~206 10io
644~13  17-34  15io 16-32  172-330 60l MRVX7EMBAO7 644~13  155~209 1500  \MRVACTEMBIS
48~9.7 22-43  20io 12~2.4 229~427  80io 48~97 200~385 20io
386~7.7  27-52 250 NMRV:#40MBQO2 38.6~7.7 243~469 25i0
gii-? g;:q;g 4333 24~4.8 134~256  40io 322~64 277~535 30io
: 19.3~3.9 160~310 50io
19.3~39  46~83  50io 16~3.2 183~351 60lo NMRV90MBQO7 128.7~25.7 81~158  7.5i0
12~2.4 233~447 80io 96.5~19.3 108~209 10io
f;?,‘_'gg 38~73 g:g 9.7~19 261~508  100io0 64.4~13  156~303 15io
.3~3. 46~88 e 48~9.7 205~394  20io ;
16~3.2 51~08 B60io NMRV #50MBQ02 O_TSkw 28.6~7.7 243481 25i0 NMRVRINMER 10
12~2.4 64~124  80io 128.7~25.7 39~77 7500 322~64 284~549 30io
o 9.7-1.9 72~140 _ 100io 965~19.3 52~102 10io 24~48  367~704 40io
0.25kW 64.4~13  7~148 150 19.3~39  438~845 50io
1287257 19:%8 TSk Boor7 oz 250 NMR/KEMEANT 96-77  249~463 250
B mrny = 322~64  134~260 30io 322~64 201~563 300 o
4807 47-91 2000 9380 200307 o0k 330 465480 8%
386~77 57~110 2500  NMRV:%50MBQO4 e - b 5
Woed 54 B0k 16~3.2 521~1000 60io
24~48 79153  40io s, i
; ' § 19.3~3.9 209405 50io NMRV:T75MBQO7 24-4.8 381-732 40io
e Wil 59 16~3.2 234~451 60io 19.3-39 456-880  50io
24~4.8 84~162  40io 16-3.2 521-1000 60ic NMRV#130MB15
19.3~3.9 99~191 50io 24—~4.8 183~352 40io 12-2.4 685-1315 80io
16~3.2 110~212 60io  NMRV:63MBQO4 19.3~39 219422 50io 97-1.9 7741503 100i0
12~2.4 142-273  80io 18~32  249~479 60ioc NMRV3<90MBQO7
i L s7-40  seT-ok 10 2'21{% 677 374723 2500
0.37kW . 32064 427826  30io
128.7~257 19~38  7.5io 1.1kW 24-4.8 550-1074  40io
965~19.3 26~50  10io 128.7~25.7 58~114 7.5i0 19.3-39 669-1291 50i0 NMRV:%130MB22
84.4~13  37~T1 15i0 96.5~19.3 78~151 10io 16-3.2 764-1467  60io
48~9.7 47~91 200 NMRV:%50MBQO4 644~13  113~219 1500 1224 1004-1929 80io
386~77 57~110  25i0 48~9.7 147~282 2010  \FO/HTEMB1S 9.7-1.9 1136-2204 100i0
322-64  65~125  30io 386~7.7  178~344 250
24~4.8 79~153  40io 322~64  203~392 30io 3kW
19.3~39  94~182  50io 24~4.8 255~496 40io 128.7-25.7 164320 7.5i0
96.5-19.3 216418  10io
ﬁ;.gg i}g‘f dsg:g 1287~25.7 60~116 7.5i0 64.4-13 317627  15io
. 96.5~19.3 79~153 10io 48-9.7 420-808  20i0 NMRV:130MB40
16~3.2 110~212  60ioc  NMRV:X63MBQO4 64.4~13  115~222 15i0 38677  511-1010  25i0
12~2.4 142~273  B0io 48~9.7 150~289 20io 32264 583-1127 30io
9.7~1.9 162~295 100io 38.6~T7.7 182~353 25i0 NMRVZ90MB15 24-4.8 763-1465 40io
: ~6.4 ~403 30io 19.3-39 912-1761 50io
24~4.8 86~166  40io 334 P ﬁj}; 40io A
195~89  105~190 S0k 19.3~39  321~620 50io 4kW
12~2.4 149~287  80io 38.6~77  187~361 25l 96.5-19.3 288557  10io
9.7~1.9 164~318 100io 32.3~6.4 213~413 30io ’ ;
64.4-13 418-808  15i0
0.55kW 24~4.8 279~537 40io . 4897 561-1077 20l NMRV3130MB40
. 19.3~3.9  334~645 50io NMRV110MB1S 38677 6811315 25io
128.7~25.7 29~56 7.5i0 16~3.2 381~733 60io 32.2-6.4 778-1503  30io
965~193 38~74  10io 12~24  495~950 80io 48
A 24-4.8 1017-1954 40io
64.4~13 55~147 15i0 97~1.9 591085 100io
48~9.7 72-139  20io
38.6~7.7 87~167 25i0 NMRV:63MBQOT 24-4.8 279537 40io
322-64  98~191  30io 19.3.39 334645 50io
24~4.8 125~241  40io 16-3.2 382-733 60io  NMRV3130MB15
19.3~39  147~284 50io 1224 502-964 80io
16~3.2 164~315  60io 9.7-1.9 569-1102 100io

NMRV



NMRV ﬁ} WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES , PRRBNERSESTRNEAS

== B e

NMRV

9.8 NMRV % 71| 23 R <1 B Installation size figure of NMRV series

NRV
a2 T WHHE=
With output flange
L b
=l ! i
I
d
e AW E=
a i Without output flange . a1
N1 _Ni
299
F &)
b1
a i € 4 5
= i w 818 b
— B 1 =
x| > 9 L
b
K
P L
e Rt Dimensions
Medel A| C | D |E|F/ G| H|I|L|M| N [O|(P|Q| R |S|V|K|d(i6)T|Gz|b| t
30 |54| 80 |14H7|97 32| 63 | 40 | 30|56 |65| 55h8 6.5/ 75|44 | 57 [55/27/ 44| 9 |20|51|3/10.5
40 | 70| 100 |18H7(121|/43] 70 | 50 | 40| 71|75/ 60h8 | 7 |87 |55| 71 |65[(35/ 60| 11 [23/60 |4|125
50 |80| 120 |25H7|144/49| 80 | 60 | 50| 85| 85| 70h8 |8.5(100/ 64| 84 | 7 (40| 70| 14 30|74 |5| 16 |
63 |100] 144 |25H7(174|67| 95 | 72 | 63 |103| 95| 80h8 |8.5|110|/ 80| 102 | 8 [50) 85| 19 [40/90 |6|21.3
75 [120| 174 |28H7|205|72|112.5| 086 | 75|113|115| 95h8 | 11 |[140| 93 | 119 [ 10|60| 90| 24 |50|105| 8| 27
90 |140| 208 |35H7(238|73| 130 | 103 | 90 [130{130| 110h8&| 13 |160|102| 135 | 11 |70 /100 24 |50|125|8| 27
110 |170]|252.5| 42H7|294| — | 160 |127.5|110| 142|165 130h8| 14 |200|125| 167.5| 15 [85|115| 28 |60 142 31 |
130 |200{292.5| 45H7|335| = | 180 | 147.5/130/155|215] 180h8| 16 | 250|140 187.5 15 |100120| 30 |80|162|( 8| 33
150 |240| 340 |50H7 (400 - | 212 | 170 |150|185|215| 180h8| 18 | 250|180 230 | 18 [1201145| 35 |80|210({10, 38
185 [310| 412 | BOH7 |472| — | 247 | 207 |185|220|265| 230h8| 22 |300|213| 265 | 25 |155175| 40 | 80|240|12| 43
nE R~ Dimensions
Model | G1 N1 KA | KB | KC KE a |KM| KN KO KP KQ b1 t1
30 63 20 | 545| 6 | 4 | Méx11(n4) | 0° | 68 | 50H8 | 1.5(4/90°) | 80 70 5 16.3
40 78 365 | 67 7 4 M6x8(n.4) | 45° | 87 | 60H8 | 9(4/90°) 110 95 6 20.8
50 92 435 | 90 9 5 | M8x10(n4) | 45° | 90 | 70HB | 11(4/90°) | 126 110 8 28.3
63 112 53 82 | 10 | 6 | M8Bx14(n.8) | 45° | 150 | 116H8 | 11(4/90°) | 180 142 8 28.3
75 118 57 111 | 13 | 6 | M8x14(n.8) | 45° | 165 | 130H8| 14(4/90°) | 200 170 8 31.3
90 140 67 11 13 | 6 | M10x18(n.8) | 45° | 175 | 152H8 | 14(4/90°) | 210 200 10 38.3
110 | 155 74 139 | 16 | 6 | M10x30(n.8) | 45° | 220 | 170H8 | 14(4/90°) | 270 150 12 45.3
130 | 170 | 81 [151.5] 156 | 6 | M12x20(n.8) | 45° | 255 | 180H8| 16(8/45°) | 320 | 290 | 14 | 48.8
150 | 200 96 155 | 16 | 7 | M12x21(n.8) | 45° | 255 | 180H8 | 16(8/45%) | 320 290 14 53.8
185 | 240 116 | 190 | 22 | 7 | M16x25(n.8) | 45" | 350 | 280H8 | 22(8/45°) | 400 390 18 64.4

387

B4 [6/3W 1) 4 HH B R~

Dimensions of single / double output shaft
B lpme)[ B | Bi | L Li|f|b]t
30 14 |30 (325102128 - | 5 | 16
40 18 [ 40| 43 [108|164| M6 | 6 |20.5
50 25 |50|535/153/199| M6 | 8 | 28
63 25 | 50|535|173|219|M10| 8 | 28
75 28 | 60 | 63.5|192| 247 |M10| 8 | 31
90 35 | 80| 84 |234|308|M12| 10 | 38
110 | 42 | 80 [84.5|249|324 |M16| 12 | 45
130 | 45 | 80 | 85 |265/340|M16| 14 |48.5
150 | 50 |102| 110 | 324|420 M20| 14 |53.5
185 | 60 |112| 120 | 374|480 |M20| 18 | 64

FE {o gl R~

Dimensions of extension worm shaft
Ze. | B |die| T b t
30 45 9 20 3 10.5
40 53 11 23 4 12,5
50 64 14 30 5 16
63 75 19 40 6 215
75 90 24 50 8 27
90 108 | 24 50 8 27
110 135 | 28 60 8 31
130 155 30 80 8 33
150 210 35 80 10 38
185 240 | 40 80 12 43

P s R~

Dimensions of torque-arm

e lalB|lc|D|E|F|a|H]|I
30 |85|38[138|/54|65| 7 [14|/8 |6
40 |100| 44 |162|60 | 75| 7 | 14 | 10 | 12
50 |100| 50 (168| 70 |85| 9 [ 14 | 10| 12
63 [150|55(223|/80|95| 9 [ 14| 10| 12
75 |200| 70 [300| 95 |115| 9 [ 25|20 | 20
90 |200| 80 [310/110|130| 11 [ 25 | 20 | 20
110 |250|100|385|130[165| 11 | 30 | 25 | 25
130 | 250 |125|410|180[215| 14 | 30 | 25 | 25
150 | 250 |125|410|180[215| 14 | 30 | 25 | 25

185 | 300 [150|495(230|265| 18 | 30 | 25 | 25

b

'lll,,’lld
I

L1

NMRV



NMRV ﬁ WORM WHEEL REDUCTOR AND ITS COMBINATION WITH VARIABLE SPEED MACHINE
SERIES , PRRBNERSESTRNEAS

DIMENSION SHEETS FOR THREE-PHASE INDUCTION MOTORS |
=R PADIABERRRY | o

NMRV

9.9 NMRV..MBQ..i% @R A SIME R R FERTE
NMRV..MBQ..worm gear reductor combining shape and installation dimensions

NRV NMRV
mRHEE
G2 . T With output flange
=) ATV
75) - Opie e
_I.f ) é @\1//‘;
KN
FHE@MHE=
wapr+  Without output flange o 81
G Motor size = 1N
: izl
H
A ' / \
bl - s | i \a
Rl m—— Py 1 “l o = =
u] i w R R T =
i | fal ] T x| = Q
£ o, D ]
- = F
KE K
M L
P
®nE R~ Dimensions
Model| A | C D E |F/| G|H|I|L|M|N|O|P|Q|R|[S|V|K|di6)|T|G2|b|
30 | 54 | 80 |14H7| 97 |32| 63 | 40 (30| 56 | 65|55h8/6.5| 75|44| 57 |5.5(27/44| 9 |20/51|3|10.5
40 | 70 | 100 |[18H7| 121 |[43| 70 | 50 (40| 71 | 75|60h8| 7 |87 |55| 71 |6.5/35/60) 11 [23/ 604|125
50 | 80 | 120 | 25H7| 144 |49| 80 | 60 (50| 85 | 85|70h8/8.5(100/64| 84 | 7 |40/70| 14 30|74 |5| 16
63 | 100 | 144 | 25H7| 174 |67| 95 | 72 [63|103| 95 |80h8|8.5|110/80| 102 | 8 [50/85| 19 |40/90|6|21.5
75 | 120 | 174 |28BH7| 205 | 72|112.5| 86 |753 113|115/95h8| 11 |[140 93| 119 |10/60/90| 24 |50[105 8| 27
90 | 140 | 208 | 35H7| 238 | 73| 130 | 103 | 90|130|130{110h8 13 |1601102 135 |11|70100 24 |50{125/ 8| 27
110 | 170 |252.5 42H7| 294 | — | 160 [127.5/110| 142|165(130h& 14 |200/125167.5 15/85/115 28 |60(142 8| 31
130 | 200 |292.5/45H7| 335 | - | 180 |147.5130 155/215(180h8 16 [2501140187.5 15100120 30 80162 8| 33
150 | 240 | 340 |50H7| 400 | — | 212 | 170 |150 185|215[180h§ 18 |250{180 230 | 18120145 35 |80[21010 38
185 | 310 | 412 |60HT7| 472 | — | 247 | 207 |185 2202652308 22 (300213 265 | 25155175 40 8024012 43
Bs R~t Dimensions
Model | G1 | N1 KA | KB | KC KE a KM KN KD KP | KQ | b1 t1
30 63 29 | 645 6 4 | Méx11(n.4) | 0° 68 50H8 | 6.5(4/90°)| 80 70 5 | 163
40 78 | 365 | 67 T 4 M6x8(n.4) | 45° 87 60H8 | 9(4/90°) | 110 95 6 | 20.8
50 | 92 |435| 90 | 9 | 5 |M8x10(n4)|45°| 90 | 70H8 | 11(4/90°)| 125 | 110 | 8 | 28.3
112 | 53 82 10 6 M8x14(n.8) | 45° 150 115H8 | 11(4/90°) | 180 | 142 8 | 283
75 | 118 | 57 111 13 6 | M8x14(n.8) | 45° 165 130H8 | 14(4/90%) | 200 | 170 | 8 | 31.3
90 | 140 | &7 11 13 6 [M10x18(n.B)| 45° 175 152H8 | 14(4/90") | 210 | 200 | 10 | 38.3
110 | 155 | 74 139 15 6 |M10x30(n.8)| 45° 220 170H8 | 14(4/90°) | 270 | 250 | 12 | 453
130 | 170 | 81 |1515| 15 6 |M12x20(n.8)| 45° | 255 | 180H8 | 16(8/45°) | 320 | 290 | 14 | 48.8
150 | 200 | 96 155 15 7 [M1221(n.8)| 45° | 255 180H8 | 16(8/45") | 320 | 290 | 14 | 53.8
185 | 240 | 116 | 190 | 22 7 [M16x25(n.8)| 45° 350 | 280H8 | 22(8/45°)| 400 | 390 | 18 | 64.4

10 YRIIZHRSEBVIIMNERRER
Dimension sheets for Y series three-phase induction motors

|

L ‘-2;%
= \ AL
i g
W— 1 ‘/ N,
al=tlE e e #lliée
. 8 5
— | i
—--;T— : n_
HES: 63~200 HLES: 225~315
Frame size:63~200 Frame size:225~315
Rt dimensions (mm) 4P ##Hl motors
%ﬁm d E b c L . - ﬁ:ﬁ&l
rame
e (M| N PR szgngngﬁgmmngmmﬁ“"ﬁ“m
BP 8P 8P 8P 8P kgm?
63 115 956 (140 0| 4x$10 | 3| 11j6 23 4 85 |[130|70| 230 |130|0.18| 7.7 | 0.00048
71 [130 1106|160 0| 4x$10 |3.5| 14j6 30 5 11 |145| 80| 255 (145 ﬁf; : g:m
0.55| 16 | 0.00145
80 |165130j6/2000| 4x$12 |3.5| 196 40 6 155 [175(145| 205 |185 S AETE T
90S [165130j6/20010) 4x$12 [3.5| 246 50 20 |195(155| 320 |195| 1.1 | 21 | 0.00254
90L [165130j6/20010) 4x$12 |3.5] 246 50 20 |195(155| 345 |195| 1.5 | 25 | 0.00317
22 | 32 | 0.00679
100L [215180j6/2500| 4x$15 | 4 | 28j6 60 8 24 |215(180| 385 |245 RN ET
110M [215180j6/2500| 4xd15 | 4 | 28j6 60 8 24 |240(190| 400 |265) 4 | 45 | 0.01306
132S 265230630000 4x$15 | 4 | 38j6 80 10 33 |275(210| 470 |315| 55 | 60 | 0.02673
132M [265230j6(300 0| 4x$15 | 4 | 38j6 80 10 33 |275(210| 510 (315 75 | 73 | 0.03432
160M |300250j6/3500) 4x$19 | 5| 42k6 110 12 37 |330(255| 615 (385 11 | 116 | 0.06543
160L [300250j6/350/0| 4x+19 | 5| 42k6 110 12 37 |330(255| 670 |430| 15 | 137 | 0.09349
180M [300250j6(350 0| 4x$19 | 5| 48k6 110 14 425 |380|280| 700 |430|185| 170 | 0.16049
180L (300 250i6/350(0) 4x¢19 | 5| 48k6 110 14 425 (380|280 740 [430| 22 | 186 | 0.18246
200L [350300j6/400 0| 4x$19 | 5| 55m6 110 16 49 |420|305| 770 |[480| 30 | 254 | 0.2819
2258 |400/350j6/45010| 8x$19 | 5| - |60m6| - [140| - | 18| - | 53 |470|335| - (815|535 37 | 308 0.37
225M 400 350j6|450/0| 8x$19 | 5 |55m6/60m6 110|140 18 | 18 | 49 | 53 | 470|335|820|845|535 45 | 335 0.42
250M * |50014506/550 0| 8x$19 | 5 |60m6|65m6,140(140| 18 | 18 | 53 | 58 | 580|370| 910 |595| 55 | 450 0.78
280S * 50045065500 8x 419 | 5 |65m6|75m6{140(140| 18 | 20 | 58 |67.5/580|410| 985 |650| 75 | 534 1.10
280M * |500 45065500 8x 419 | 5 |65m6| 75m6{140 140 18 | 20 | 58 |67.5/645/140| 1035 |650| 90 | 592 135 |
3158 % |600550j6/660/ 0| 8x$24 | 6 |65m6/30m6{140(170| 18 | 22 | 58 | 71 | 645|530(1160(1270 845| 110 | 930 | 2.8596
315M * |600/550i6/660/0/ 8x$24 | 6 |65m6/80m6|140 170 18 | 22 | 58 | 71 | 645|530 1190(1300{ 845 132 | 1030 | 3.1848
315L * |600/550j6/660{0| 8x$24 | 6 [65m6/80m6{140|170| 18 | 22 | 58 | 71 | 645|530(1190[1300 845| 160 | 1050 | 3.6765
-M1-
390



